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Instructions :
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Question No. 1 is objective type question. It consists of Section (A),
Section (B) and Section (C). Each Section has 5 questions of 1 mark

each. Visually impaired students follow the instructions as given with

the questions.

S99 I 2 @ 6 T 31fq oY IUUT I ¢ | Tk U W 2 I efed
¥| (wes I F fuean wR-F 30 9 €)

Question Nos. 2 to 6 are very short answer type questions. Each

question carries 2 marks. (Maximum word-limit of each answer is

30 words)
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(iti) 999 HiE 7 | 10 T Y IWHE W1 € | Wk W9 W 3 3 g ¥
(T I *i fehad I=-HA 50 vz })
Question Nos. 7 to 10 are short answer type questions. Each question

carries 3 marks. (Maximum word-limit of each answer is 50 words)
(iv) W93 HH% 11 ¥ 14 T6 T STE 59 § | 5% 999 W 4 3 aqeifeg
g1 (YH IW &l AThaT W-HA1 75 veg §) |

Question Nos. 11 to 14 are short answer type questions. Each question

carries 4 marks. (Maximum word-limit of each answer is 75 words)

(v) W HHI% 15 TH 16 o I W99 ¥ | YAF G W 5 i eqeifrd ¥
(YT ST &I Afehay =E-TA 700 weg )

Question Nos. 15 and 16 are long answer type questions. Each question

carries 5 marks. (Maximum word-limit of each answer is /00 words)
(vi) ¥ HHS 17 TH 18 Y 3T T T | TAF U W 6 3k e ¥
(TRAF I h! Afaehay wee-HiT 750 g ¥) |

Question Nos. 17 and 18 are long answer type questions. Each question

carries 6 marks. (Maximum word-limit of each answer is /50 words)

-1 (@ue-3) wEl faewey e fafan [1x5=5]

(Section-A) Choose and write the correct option :

() ¥ — Y9 — T — Fi

IR WY & § IERE ©
(3 ¢ () 9H
(7)) @ (3) @

Sun — Rice — Rat — Snake

The producer in the above food chain is :

(@) Sun (b) Rice

(¢) Rat (d) Snake r€QlMEe
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(i) o ! A R ol o

(37) UEfaw v
() T
(%) & 954

(%) Ff™ =399

Most varieties of paddy are found due to :
(a) Natural selection

(b) Colour selection

(c) Work selection

(d) Artificial selection

(ifi) FTHEAFM AT IR ¢
(37) C,H, (&) COOH
(%) C,H,,, ,OH (2) C,H,, s

General formula of alcohol is :
(@) C,H, (6) COOH
(©) CHH2n+10H (d) CnH2n+2

(iv) e fea uigeti 1 fagug § 2
(3 Cu+Zn
() Cu+Sn
(g) Al+Cu
(3) Fe+Cr

Brass is a alloy of which metals?
(@) CutZn
() Cu+3Sn
(c) Al+Cu

I’l f FC + Cl‘

e
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The focal length of a spherical mirror to its radius of curvature is :

®

(a) 5

1
@ 3

(c)

W= e

(Tvs-9) fa sl =t gfd sifse

(Section-B) Fill in the blanks :

(/) NaOH T —— &R 1
NaOHis a base.

(i) 2d 1 T TEELTH Sl B —— Foll § IR |

[1x5=5]

Lighting of a torch is conversion of chemical energy to energy.

e i 7 e 4 gt w ¥fa wa

hormone induces growth in length of plants.

(iid)

(iv) SR & o Treishid & —— B ¢ |

Magnetic field inside a solenoid is :

(v) CH;COOH ¥ fiFar® g —— B
Functional group in CH;COOH is .
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yva-1  (@ue-¥) 3fud vy Sifge [1x5=5]

(&) (@)
(i) @& - (@) oE@dgHu
(i) GTHES AT - (b)) 310K
(iii) YRR 1AM - (c) T URUEE
(iv) o, g ame - (d) SAUHH
(v) gemsid - (e) HfeH
(Section-C) Match the following :
(A) (B)
(iy Apple - (a) Concave Mirror
(it)  Sulphide Ore - (6) 310K
(iii) Body Temperature - (¢) Iron Pynte
(iv) Torch, Search Light - (d) Decomposer
(v) Micro-organism - (e) Malic Acid
-2 IR R wed § 2 | (2]
What is called producer?
U9A-3 IR FH S H 3T | Fren 1 fawan st ¥ 1w & | [2)

Solar cooker is painted black from inside. Explain why.
U¥1-4 nmﬁmﬁﬁw@@—ﬁu&ﬁy&q%@mﬁnnﬁlmw
N9 3T I WM W YA 7], @ FHIST AT € 74| TR HR0T GHARY L [2]

While eating mid-day meal, some vegetables fell on Kusum's clothes.

She went home and rubbed some soap on the spot which turned red.

Explain its cause.

Write full form of PVC.

5-6A P.TO
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e G (faread) ford wed § 2 [2]

What is called villi?

U< 31 9 %84 © 7 3% ¥R 1 Faw 99 fafagn [2+1=3)

What is latent heat? Write only the name of its type.

mum?wﬁrﬁmsﬂtamﬁmwﬁﬁmﬂﬁqwm| [1+1+1=3)

Wrnite three differences between virtual image and real image.
fered WX 1 @ 2 g fagr= fafa) [1+2=3]

What is an electric motor? Write its principle.

Sitel % foere % fagra & i ge fag w ¥ 2 [1+1+1=3]
What are the three main points of the theory of development of
organisms?

STAIh! 1 ST fordt a1 sman & 2 314 oy 9 o areen waiv fan 2

I 919 &I g & 3 w1 fafag [1+1+2=4]

Who is called the father of genetics? On which plant he used his

experiment? Write two reasons for the selection of that plant.

srerar
OR

T 3R gugfa A w71 § ? g 9fed guzmE )

What are homologous and analogous traits? Explain with example.

et 3R fr & =R s fafaw [I+1+1+]1=4]

Write four differences between artery and vein.

S-6A
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srerar
OR

ifites 3R il wormm B 9w siar fafaa

Write four differences between sexual and asexual reproduction.

fra wavll i ocilg Td R gHid F SR R JAF FIWT 1 3T
Tt AW ot fafaa [1+1+1+1=4]
(i) CuSOy4 (i) NaHCO,

(iif) NH,CI (iv) CH;COONa

Distinguish following salts on the basis of acidic and basic nature.

Write their chemical names also :
() CuSO, (if) NaHCO;

(if)) NH,CI (iv) CH,COONa

ear
OR

e i § | 39 a9 ® gEiAg Fge wam] TER 591 § 947 59
FRO ot fafa : [2+2=4]
(i) Mg (ST FE&A 12) A Cl (TRH] HE&41 7)
(i) Na (TR &A1 11) 31 K (TH] F&41 19)

Identify the element that has the larger atomic radius in the pairs

realme

given below and write its reason also :
() Mg (atomic number 12) or Cl (atomic number 7)

(if) Na (atomic number 11) or K (atomic number 19)

et R F TR E GH 9 39 o I9an fafau [2+2=4]

Write chemical equations for the synthesis of Teflon and two uses

of it.
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srerar
OR

RS AE UG |91 w1 TarEfTes gt fafEn | wrey ofE i ¥
forg U & SRU iR THE 3TN 2 BfgA # feem wa ¥ fou
g2

Write the chemical equation for preparing Plaster of Paris. For which

property of Plaster of Paris, doctors used it to fix bones fracture?

UIA-15 WY &1 Wadd &1 ¢ ? 391 gfax fran fafae 3 s star § o2
30 ST | [1+2+2=5]
Fiz: gfeartua faard fag & e W faw &t s w6
What is reflection of light? Write the law with diagram and give any
two examples in daily life.

Note : Visually impaired students will describe the law in place

of diagram.

Ferqr
OR

o sift e R Fed ¥ 2 o sTva % A WS | FEHT W
fafaT |
Fz: gfeartua faemed faur snvE & T ot g for@t

What is total internal refiection? Explain with ray diagram. Write
conditions for it.
Note : Visually impaired students will write example in place of

ray diagram.

S-6A
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UvA-16 (i) Wi % Svien ddem w1 aftafue ST $9 ' e oy

Eife |
(i) T fagq oRoy §, 10 Q iy F R w5 dee # favamr
SRITa fora < & 1 3E @ SIg Aell ¥R ST A iy | [2+1+2=5]
iz  gftearia faeamed sofes ware § faer oty & @ w
waet gx fa@in
(i) Define series combination of resistances. Draw electric circuit for it.
(if) In an electric circuit, a voltage of 5 volts is applied across
resistance of 10 §2. Calculate current flowing through it.

Note : Visually impaired students will write only formula in

place of circuit diagram of series combination.

arerar
OR
(i) o = fram fafee wd v am 7 & t= 7w Eifag )
(if) m—ﬁaw%?sﬂaﬂnﬂsﬁﬁmr
Fz: gfeartua faere Vv oqur 1 & sta T & T O TE S
peachcrend
(/) Write Ohm’s law, and plot graph between V and /.

(ii) What is kilowatt-hour? Write its value in joule.

Note : Visually impaired students will describe nature of graph

in place of the ¥ and 7 graph.
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[10]
iy 3k Prear § @ ofm fafEu |

e sfufsmel & fog et gHts fafee:
(@) R i o & W
(b) Ffewam i 9t & wy AfwA

Write three differences between roasting and calcination.

Write chemical equations for the following reactions :
(a) Reaction of iron with water vapour

(b) Reaction of calcium with water

3rerar

OR
foret arfufsansti @ qof Ff -

or_ 0
(@) N+3H,450°C-500°C
200 atm

...........

() Zn(s) + 2NaOH —F > + Hyt

Tarafes ol % YR W uig ud 3wy § 9 o fafeng |
Complete the following reactions :

O _ 0
(@ N,+3H,$0°C500°C
200 atm

(b) Zn(s) + 2NaOH KHeat

Write any three differences between metals and non-metals

with respect to their chemical properties.

[3)

[1%+1%=3)

[1%+1%=3]

[3]
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wvi-18 (i) et 31 T B & W @ A - P e [1v4+1%=3]
(i) Bt ) aRfE T T S fafa [1V4+1%=3]
(a) PIGERIRER]
(b) TUfeos fra
(i) Write any two plant hormones and their one function of each.
(ii) Define the following and write one example of each:
(a) Reflex action
(b) Voluntary action
| arerdr
OR
() wa ®l R R St Ten % W | 39 - g faraal
(i) fireg Y fenfi 91 T0E F1 UH-TF S fafau
(@) ~IEe™
(b) TATH
(i) Write names of any two endocrine glands of human and their
one function of each.
(if) Define the following and write one function of each :
(@) Xylem
(b) Phloem
S-6A
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